
1) 120 ÷ 10

Answer: ____________

2) 84 + 27

Answer: ____________

3) Find the mean of the following set of data:

16, 15

Answer: ____________

4) Factorise j2 + 9j + 14

Answer: ____________

5) 10 x 1000

Answer: ____________

6) 42.8 - 82.6

Answer: ____________

7) 72% of 52

Answer: ____________

8)
32

2 /5

Answer: ____________

9) 51 - (-10)

Answer: ____________

10) 81.4 - 17.5

Answer: ____________

11) Find the range of the following set of data:

0.1, 0.2, 1

Answer: ____________

12) 25.7 x 15.3

Answer: ____________

13) Factorise d2 + 6d + 8

Answer: ____________

14) 20.4 - 16.5

Answer: ____________

15) Find perimeter of 
square having each 
side (s) equals 31 m

Answer: ____________
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16) An amount was decreased by 6% to 
$165.00. Find the original amount.

Answer: ____________

17) Round 7.797 to 1 significant figures.

Answer: ____________

18) 62.7 - 39.5

Answer: ____________

19) 3/5 + 1/2

Answer: ____________

20) Find perimeter of 
triangle
h = 51 , a = 83 ft,
b = 91 ft, c = 94ft

Answer: ____________

Total: ___ / 20

Copyright 2020 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

February 17, 2020

Sr: 17022020-1265

 

http://www.geekschool.co.uk


Answers:

1) 12 2) 111 3) 15.5 4) (j + 2)(j + 7) 5) 10000 6) -39.8 7) 37.44

8) 4 9) 61 10) 63.9 11) 0.9 12) 393.21 13) (d + 2)(d + 4) 14) 3.9

15) 124m 16) $155.10 17) 8 18) 23.2 19) 11/10 20) 268ft

Copyright 2020 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

February 17, 2020

Sr: 17022020-1265

 

http://www.geekschool.co.uk

